_4th_Quarterly report for 2015  ITC Holdings

Date:
3-15-2016
Percentage change in Sales from year ago quarter___-3.1%_____________
Percentage change in Earnings per Share from year ago quarter__-15%_____________
Is company meeting our target sales & earnings estimates?  No
Pre-tax Profit on sales trend?   (up, even, down) Even
Return on equity trends?  (up, even, down) Even
Debt?  (up, even, down) Up
Current PE is _27.1_______.   

 Where does it fall in my estimated High/low range of PE's?__Higher_______
Signature PE =_~20.5________

Club cost basis for this stock is $34.1077_____.                  Current price is __$42.46_____
      (from latest valuation)

Current fair value:  Morningstar:__$42____      S&P:__N/A________VL: $45-$65
My SSG Total Return is _8.7%________Projected Average Return is ___7.2%__________
What will drive future growth
ITC Holdings is merging with Canadian energy company, Fortis, which also has utility holdings in the US. Fortis will pay ITC stockholders $22.57 in cash plus .752 of a share of Fortis, the total valued at about $45/share.  ITC has been in some litigation with competitors over their allowed rate of profit. As a result their profit rate is expected to drop to 10%, and 2015 revenues and EPS were significantly reduced for refund reserves. Both ITC and Fortis are healthy businesses and, if the merger is allowed to proceed, stockholders should see improved sales and EPS. 

Additional comments:
Club may wish to investigate buying Fortis if this merger continues. 
Recommend: Buy More ____, Hold__X____, Challenge with a better investment______, Sell___
